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Time/¥9d : 2 Hours /90 Full Marks/quit& : 300

Note/T€: (1) Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

ity gH F T FE F WA H | IAF W 3 3F B 2| TAF T IR F
fau o % #1e1 sTen | T@E ERa TE 1 YW A

(2) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

e s dhfer I adt I F fee ydta &, @ Feeaw ad@ 3@ 3

(3) This paper comprises of Five Sections. Sections [ and II are compulsory
whereas only one Section out of III, IV and V is to be attempted.

T UG U @St w1 ) @ I W I fad ¥ vafs @ 0L, Ve v E @
fortft wem ®1 I T R

Section—I

Gus—I

CHEMISTRY
(Compulsory for all)

1. The lowest strength of acid is shown by

GBI i B | L R L B
(1) CH;COOH (2) CH,CICOOH
(3) CHC1,COOH (4) CCI;COOH

(323) 1 (P.T.0.)
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2. The incorrect outer electronic configuration of

(1) Cu’ is 3d'%4s! (2) Cu is 3d'%4s!

(3) Cr is 3d°4s’ (4) Cu* is 3d'°
A TH-T Sl s iw-fae % fau a2

(1) Cu* & faw 3d'%4s! (2) Cu & fow 3d104s!
3) Cr = %q 3d°4s! (4) Cu* & fom 341°

3. Which is incorrect for the oxidation states?
(1) Mn has 7 in KMnO, (2) Fe has 3 in [Fe(CN)g] 3
(3) Ni has zero in Ni(CO), (4) Ni has 2 in Ni(CO),
e anedte feufa/omwan frm o R7
(1) KMnO, # Mn i 7 8 (2) [Fe(CN)g] 3 & Fe & 3 &

(3) Ni(CO), ¥ Ni i 3 2 . (4) Ni(CO), ¥ Ni &t 2 2

4. Which of the following is correct?

(1) Cellulose is a disaccharide

(2) Fructose is a disaccharide |

(3) Starch and cellulose both are polysaccharides

(4) Sucrose is a polysaccharide

A RE qu d A B-m ad 27

(1) ¥ Sredrrse @ (2) FFIT SEAFTE 2
(3) W N Fe[eiw Al feflamgs 3 (4) gEW drcdese R

(323) 2
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Which of the following is correct?
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(1) Internal pressure, (0E/0V)r =0 for real gas

(2) AG is - (ve) at equilibrium
(3) AG is + (ve) at equilibrium
(4) AG is zero at equilibrium

™ @ FA-a w7

(1) & anafas 19 ® =i §@ (OE/oV )y =0 Bl 8

(2) &ged W AG fifea @ 2
(3) FFE W AG uishifea arar 2
(4) §geM W AG =0 Bl R

Which of the following is true?

(1) P,O5 is an acidic oxide

(3) C¢Hs—OH is neutral in nature
i & FH-w wm }7?

(1) P05 Wi aifaarss 2

(3) C¢Hs—OH T # I &rar 2

Which of the following is correct?

(2) P,05 is a basic oxide

(4) C¢Hs—OH is basic in nature

(2) P,05 afiw ifFwme 2

(4) CgHs—OH Tu # afteh &an 2

(1) Axial overlap of s with p -orbital gives n-bond

(2) Heisenberg’s relation is Ax-Ap>h/4n

(3) RNA exists as double helix

>(4) Bond-order of He, = %

(P.T.0.)
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(323)

T A F-u owd R

(1) @& s & p, w&% % @19 UFgae Afqeam @ n-arg aam 2
(2) sEad @ WY Ax-Ap>h/4n R

(3) RNA st 2femw o @ @

(4) He, &1 aig a1fdy ¥ R

For a d-electron, possible values of its azimuthal and magnetic quantum numbers are
() I=2and 3; m=0,+1 and +2 (2) I=1;m=-10, and +1

B) I=2;m=-2,-1,0,+1 and +2 (4) I=1;m=0,+1 and 2
@d—g@azﬁ%#ﬂamuaamﬁnﬁﬁmmwuﬁ?

(1) I=23R 3; m=0,+1 3R +2 (2 I=1;m=-10, 3 +1

(3) I=2;m=-2,-1,0, +1 3k +2 4 I=1,m=0,+13M +2

Which of the following is used as a fertilizer?

(1) Gammexane (2) Gammexane and DAP
(3) Urea and DAP (4) Urea and DDT
A -9 G R wE T a2

(1) Mwdq (2) TR M DAP
(3) gfmr st DAP (4) gf@n iR DDT



10.

11.
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Which is the correct match for the allotropes of C and P?

Carbon
(1) Diamond and graphite
(2) Diamond and graphite
(3) Monoclinic and rhombic

(4) Red and white

Phosphorus
Monoclinic and rhombic
Red and white
Diamond and graphite

Monoclinic and rhombic

C 3t P ¥ Weigiw ¥ ufe #-@1 g A= @rar &7

FTal7
(1) & st fwge
(2) & M dwrge
(3) Wi st Tfew
(4) @ 3 e

FRERE
el ot Ufeme
a3 whe
B 3 A
e o s

Phase rule is F =C ~P +2. When four phases of S can coexist?

(1) Never

(2) At the three triple points

(3) At the transition temperatures

(4) At the three triple points as well as at transition temperatures

¥ FA F=C-P+2 ¥ TR & 910 &9 &9 T T IR ?

(1) =@t =&
2) o= fifie wfgrga W
(3) =AM qYHE W

(4) @ Rfte wigvgg w aw F=ivH aoee W

5

(P.T.O.)
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12. According to law of mass action, for a gaseous reaction R =P at equilibrium
(1) d[R]/dt>d[P]/dt (2) d{R]/dt<-d[P]/dt
(8) ~d[R})/dt=d[P]/dt (4) d{R]/dt=d[P]/dt

1 AE A U % e g afufEm R =P wgen w
(1) d[R]/dt>d[P]/dt (2) d[R)/dt<-d[P]/dt

(3) -d[R]/dt=d[P]/dt (4) d[R]/dt=d[P]/dt

13. Which of the following is correct?
(1) An isotope has same number of neutrons
(2) An isobar has same number .of protons
(3) An isotone has same number of electrons

(4) An isotope has same number of protons

A FF-T wd 20

(1) AT § =g s 8 §
(2) wgEEm o el W d 2
(3) AR ¥ A aeR A #
(4) 3mEErRg ¥ Wl U B #

14. Electron of H is present
(1) as a cloud around nucleus
(2) in orbit whose principal quantum number, n =1
(3) in several orbits for which n>1

(4) around nucleus for n<1to n>1

(323) 6
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H & 3eegiA d§g gar ?

(1) =IfFera & 9/ 3 g8 st aew # we fo@w gan

(2) sifoe ® frme Bdflua #wew TR, n=1 1%

(3) % Atfae # frmew ffiva #wer TR n>1 %

4) fFemm % I ot e ffive #=0 T n<1 @ n>1 9% 2

In the light of Le Chatelier principle

(1) an endothermic reaction is facilitated at high temperature

(2) an exothermic reaction is facilitated at high temperature

(3) a gaseous reaction A, +3B, =2ABj is facilitated at low pressure

(4) a gaseous reaction A, + B, =2AB is facilitated at high pressure

R-Wefem g F wgEn

(1) s oo w werafis aifafewan sodt @

(2) Aftrer qrome W wesufifs afufrn agd R

(3) wk & AAfufFm A, +3B, =2AB, ¥ ™ T &gl @
4) @ *9 AufFn A, + B, =2AB iU 9@ W Fgdt ?

According to Graham’s law of diffusion, rate of diffusion of a gas is
(1) directly proportional to the molecular mass

(2) inversely proportional to the molecular mass

(3) independent of the molecular mass

(4) equal to the molecular weight of the gas

(P.T.O.)
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17.

18.

(323)

e % e o % aman % RfwEe f [ W e R
(1) wierger 7| % sAtweel warsfaa 2

(2) AefwER M ¥ Fde ok R

(3) wichwper wrm w fAft 7 @ 2

@) M ¥ AichFErR IR F T A R

Which of the following is incorrect?

(1) Half-life of a gaseous reaction A— B is «1/[A]""}

(2) A catalyst provides an alternative path of lower activation energy
(3) Molecularity and order of reaction is same

(4) A unimolecular reaction may be a first order reaction

R 2w d & F-w rew Ry

(1) s A 6 afufFm A B $ adf-amg < 1/[A""!

(2) wh Rfaw #v 3@ 9t = 5w /gq0 TN Iy W 2
(3) W& 3 sfifrm =1 ot T R 2

(4) T iR sfufn yam amdt f @ w2

Which of the following is correct for [Fe(CN)g] % {Hint : Fe2* is 3d®y?

(I) It is paramagnetic (2) It is diamagnetic
(3) It is ferromagnetic ~ (4) It is antimagnetic
¥ & FI-1 [Fe(CN)g]™* & wfd ot ® (7m0 : Fe2* . 3d®y?
(1) &% TimRs R (2) I8 sEMMRE 2
(3) =& ¥dmfew R , (4) @& TR

8
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19. Which of the following is correct?
(1) Metals decompose water with the liberation of H,
(2) Atomic volume decreases from Li to K
(3) Basic character decreases from Li to K

(4) P and Cl give acidic oxides

Sﬁ‘ﬁaﬁq-mwﬁ%?

(1) ¥ gt | e /omee @ € el H, o Peed R
(2) Li @ K % TOHIY-3a gear R

(3) Li & K o= afgs 1o wear ?

(4) P 3l Cl fufew afwomss 22§

20. Which of the following is correct for the use of indicator in titration of solutions?
(1) Phenolphthalein in HCl with NaOH
(2) Methyl orange in NaOH with oxalic acid
(3) Phenolphthalein in warm (acidified) oxalic acid with KMnO,

(4) No external indicator is used in warm (acidified) oxalic acid with KMnO,

A - 3EFA W W AR & fog wdh 27

(1) NaOH # HCl & @ frfesdefa $fever =1 w@m &an 2

(2) NaOH = JTRifaw o1 & a9 Rumsel e 3fEwer + w@m &

(3) m (A=) H,C,0, # KMnO, % @19 fsiewdeis &1 wam € 2

(4) ™ (d9meft) H,C,0, 1 KMnO, % @y sl @ 3fe¥et w1 wam 8 a2

(323) 9 (P.T.0.)
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21. Assertion, A : Dextro-variety of tartaric acid is optically active.
Reasoning, R : Asymmetric carbon atom is present in dextro-variety.

(1) A and R both are correct and R is the correct explanation of A

(2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false

(4) A is false while R is true

Assertion, (W) A : T g 6 Ivw) e yau-afsa ad )

Reasoning, (&7W) R : 3% e o amgmfig C-317 g )
(1) AR RIT &% € 3t A ¥ R R @1% Fror 2

(2 ASRRIA &% & Wg A ¥ R R &% sy 79 2

(3) A @dl ? fhg R o 2

(4) A 7Ted ® Sefe R o 2

22. Assertion, A : Phenol is neutral while ethyl alcohol is acidic.
Reasoning, R : Benzene ring withdraws electron and facilitates removal of H*
(1) A and R both are correct and R is the correct explanation of A
(2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false
(4) A is false while R is true

Assertion, (W)A:ﬁﬁfﬁ%%mmm@ﬁ%?l

Reasoning, (@wur) R:%ﬁ?ﬁﬂ?ﬁ?{ﬁﬂﬁﬁt@ﬂﬂ%ﬁﬁ%%H* F s
Sic I i

(1) AR A 4% § ot A ¥ R R &% rm @

(2) A SRR G4 3% 2 Wg A ¥ fu R d% w2

3) AW 2 frg R e &

4) A Ted @ SEfE R @ R
(323) 10



13U/102/28 Set No. 1

23. Which of the following is a polymer?

(1) CHCl, (2) Acetates (3) PVC (4) CgHg

R @ g d d - agEw /e 27

(1) CHCl, (2) wHeew (3) PVC (4) CgHg

24. Which of the following is correct for primary, secondary and tertiary alcohols?

H

(1) —(|3=(|3—OH is primary alcohol
H

(2) —(lf—(:Z—OH is secondary alcohol

|
(3) —?—OH is tertiary alcohol

(4) —C=C—OH is tertiary alcohol

T ¥ F-a@ o, fdies ot gfas weaigla % i &t 27
B
(1) —C=C—OH YRft& Tehigiet &
B |
(2) —ﬁ:—(ll—OH fedfrae Tewieia @
H
(3) —(:I—OH CRRERNE IR
(4) —C=C—OH d~I* THEA &

(323) 11 (P.T.O.)
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25.

(323)

Which of the following is incorrect?

(1) The functional group R—(|I=O is aldehydic

(2) R—CO—R is ketone
(3) Cy3H»,0;; (Maltose) is monosaccharide

(4) Sucrose is disaccharide

T A FA-91 Ted 2?

(1) foramewsr-Tgg R—?=O AT

(2) R—CO—R #r 2
(3) C13H,,0,, (wedw) Md¥Fse
(4) TP STHRFTTE 2

12
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27.

28.

29.
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Section—II

Qus—II

MENTAL AGILITY
(Compulsory for all)

Which of the following diseases is caused by virus?

(1) Plague (2) Cholera (3) Tetanus (4) Chickenpox

f= d F-d@t dmd s 9fe 20

(1) @=m (2) #m (3) T (4) Frea ofem

The circumference of a circle is 110 cm. What is the perimeter of the square whose side

is equal to the diameter of the circle?

& gq H wRfa 110 Ffto 31 3@+ 1 vfem ;=AM R ™ g 39 F W@ F auw
27

(1) 240 cm (2) 70 cm (3) 140 cm (4) 220 cm

The Prime Minister of India is

(1) elected (2) appointed (3) nominated (4) selected
IRd & quAw

(1) I < @ (2) frges fr s 2

(3) fm ferm wmar R (4) =afm e s R

If x =-3, then x> - x? - x will be equal to
ﬂﬁx?ﬂﬂﬂ——3%,ﬁ x3 —-x?% - x w1 qW @M
(1) 15 (2) -27 (3) -33 (4) 54

13 (P.T.0.)
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30. The largest petroleum reserve is located in

(1) Iran (2) Russia (3) Saudi Arabia (4) Venezuela
ged 9g Ygiferam w1 WeR R
(1) S d (2) &1 ® (3) T 3Ww ® @) JIquen ®

31. Egg contains all nutrients, except

(1) avidin (2) riboflavin (3) carbohydrates (4) biotin

R A Y F Al o oews 9w #

(1) uffe (2) TgErRAEA (3) FeEESeH (4) s
32. The headquarter of World Bank is located in

(1) Manila (2) Washington DC

(3) New York | (4) Geneva

fam 9% #1 yewen fom ?

(1) wHren o (2) afivrRea dodle #

(3) =k # (4) foan &

33. By selling 11 pencils for a rupee, a man loses 10%. How many pencils per rupee should
he sell to gain 10% ?

Th el 1 wd A 11 9 A9 w 10% uR § w2 SEn v el s 9
=ifee & 10% &1 qHH |7

(1) 9 (2) 10 3) 8 (4) 5.

34. What is location-value of 3 in the figure 98312407
& 9831240 # 3 & WH-HE w1 27
(1) 31240 (2 3 (3) 3000 (4) 30000

(323) \ 14
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The percentage value of = shall be
2 ® gfewa 7= g
(1) 125 (2) 8 (3) 15 (4) 25

There are 4 poles in a row A, B, C and D. Pole A is longer than C, B is smaller than D
and C is longer than D. Which pole is the smallest one?

A,B,C,Danvaﬁz@‘ﬁ‘ﬁﬁ%lmA,cﬁm%,B,Dﬁaﬁa%amc,Dﬁm%l
FH-F @ GER Bl 27

(1) B (2) A 3) D 4) C

In which season of the year the distance between us and the sun is the minimum?

(1) Winter (2) Summer (3) Rainy season (4) Spring
a&%mﬂmﬁqﬁ@mr«ﬁﬁ%aﬁa@w@ﬁ?
(1) SR o (2) wdf o (3) =i =g # (4) sga #

Spot the stranger in the following

(1) Pearl millet (2) Rice (3) Ground nut (4) Maize
f= & @ e W i
(1) == (2) 4 (3) HiTweh (4) T

Seeds of which of the following crops are also a source of edible o0il?

(1) Wheat (2) Maize (3) Barley (4) Pea
ﬁmﬁ@ﬁmm%ﬁ@mh%ﬁmﬁmm%?
(1) 7 (2) we (3) st (4) "=

15 (P.T.0.
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41.

42.

43.

(323)

The next number in the following series

= gaen d
35, 32, 34, 31, 33
is
aprefl gen Al
(1) 30 (2) 32 (3) 31 (4) 35

Which one of the following is not a Kharif season crop of North India?

(1) Paddy (2) Mung beam (3) Sesame (4) Gram
i # § A-d FHT TN ARG F @O F Mew § G off S 27
(1) 9m (2) 7 (3) fam (4) =T

Which one of the following animals is not found naturally in Indian forest?

(1) Blue bull (2) Zebra (3) Rhino (4) Chinkara
= 3 4 FF-w IR TFHfes ®1 @yl set & Jd g s @7
(1) e (2) S (3) = 4) HFm

A circle with 7 cm radius is segmented into six equal triangular areas as shown in
figure below. The area of shaded portion shall be

w g7 R B 7 om @ AR Rem m e % s 6 Bl § R fem T 31 o
T wefifa sm 1 d ed w®&@ oAm?

'l,,,,,' g

(1) 7x+/36-75 cm? (2) 19x+/36-75 cm?
(3) 21x+36-75 cm? (4) 14 cm?

16
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Which of the following animals is not having any tooth in its upper jaw throughout its
life?

(1) Horse (2) Cow (3) Goat (4) Donkey
ﬁmﬁﬁﬁmw%mmﬁwmmsﬁﬁaﬁm??
(1) =g (2) g (3) @ (4) e

In the series given below find out the next number
= & T fEe § ag f dEn
3,7, 13, 19, —

(1) 21 (2) 25 (3) 29 (4) 31

Spot the stranger in the following

(1) Carrot (2) Sugarbeet (3) Radish (4) Turmeric
f=r d sl ofeenfie
(1) TR (2) TP (3) weh (4) wed

In how many ways the letters of word ‘COMMERCE’ be arranged?
¥, ‘COMMERCE’ & 3R faert ae & sqafer by s ga 37

(1) 5040 (2) 10080 (3) 2520 (4) 5240

6x3(3-1) is equal to
6x3(3-1) % "H 2

(1) 0 (2) 36 (3) 55 4) 19

17 | (P.T.O.)
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49.

50

(323)

An aeroplane flies from New Delhi to Washington DC via Africa and returns from same
route with same speed and height. Which of the following statements would be correct?

(1) While reaching Washington DC it will take more time than in return journey.
(2) In return journey it will take more time than in reaching to Washington DC.
(3) While going and in return journey time taken will be the same.

(4) Time required for going and in coming back will not follow any definite trend.

w A e T g ¥ afimed Sodlo iRl g Wl 2, an fR 3 TR ¥ el s
2 A w s e @ s d A ofedd 9w ) oW ffa J e A A we-w wE
w@ g

(1) ¥ oo wded & w@ @ @M AR W # wH
(2) 94 H Wen et A U T @m

(3) M T TN ¥ S §HI m

(4) Ffrad &9 @ 38 98 Fa 1 gFA 2

Which of the following is not a greenhouse gas?

(1) Oxygen (2) Carbon dioxide (3) Methane (4) Nitrous oxide
fim 4 o deeew’ fa ad 27

(1) ifaefem (2) FEA TFATFTEE

(3) e (4) EZE AEEE

18
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Section—III
@ug—III
PHYSICS and MATHEMATICS

(Physics)

In the equation Y-A =X .B, where Y is the Young’s modulus of elasticity, A area of
cross-section and B is the dimensionless quantity. The dimensional equation of X will
be

Hﬁiwy.A:X-BﬁYzhmwmm,Améﬂm@B@ﬁw@quﬁr‘alxm
forfra gl drm -

(1) MLT "2 (2) ML 212 (3) MZ2L°T @) MLT?

An electron with charge e and mass m is accelerated from rest through a potential
difference equal to 5 volts in vacuum. The final kinetic energy of the electron will be

ﬁtmmmﬁ@:é&ghmmeqémm%sésaﬁﬂ%ﬁmﬁmﬁaﬁa
fo sman 21 TR i e s @

(1) 3ejoule (2) Se joule (3) 7ejoule {(4) 10e joule

A particle moves in a circle of radius 50 cm at 10 revolutions per second. The
acceleration of the particle in metre per second? is

T I 50 Hoflo e & gu W 10 ufrww wfa aFve € R A W@ @ 2w W AR R
Javg? § ww R

(1) 5072 (2) 10072 (3) 20072 (4) 40072

The heat given to an ideal gas in isothermal condition is used
(1) in increasing internal energy (2) in doing the internal work

(3) in decreasing internal energy (4) in doing the external work

19 (P.T.0.)
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5S.

56.

57.

(323)

grardl sEen § eyl g f A T s Hww oo R
(1) sr=afes s gfy (2) i wd W A
(3) e S wem (4) " wd FQ A

The length of second pendulum is increased by 44%. The periodic time of oscillation
will be

(1) increased by 20% (2) increased by 22%

(3) decreased by 20% (4) decreased by 22%

T 9F0S Jo H TN 8 44% B g W G It R D wF Qo W A F
(1) 20% &g (2) 22% ®g S&AM

(3) 20% w2 SR (4) 22% W S

If the illuminance of a surface from a point source is to be reduced to 25%, the distance
of the surface from the source must be

(1) increased by 25% (2} increased by 50%
(3) increased by 75% (4) increased by 100%

e g e & feel wae W ugd areft dfma B werE 25% 9F @ R, @ woe b oAd @
g =

(1) 25% @ «emT & (2) 50% & ST BN

(3) 75% & wem ' (4) 100% ¥ wgMT Bnm

A voltmeter can read up to 10 volts. The resistance of voltmeter coil is R. If this

voltmeter is to be converted into an ammeter capable of reading up to 1pA, then a
resistance r is to be used as

(1) in series with R and r<R (2) in series with R and r >R

(3) in parallel with R and r< R (4) in parallel with R and r>R
20 |



58.

59.

60.
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WF e iy 10 diee 7% Y5 °F@ B decfin H Fueet w1 whdw R 21 W @
mﬁaﬁwmAwWWaﬁwﬁaﬁm%,a}marmmﬁ

(1) r<R3 R F @y Avft &w & (2) r>Ra R & Ty off %5 &

(3) r<R3a R F WY GHI=N U W (4) r>R 3 R & @Y aw-=i %W &

Which of the following expressions represents a stationary wave?

= 3 {4 o ol swmh @@ i fefa w20
(1) Asin (wt) (2) Asin (ot)-cos (kx)

(3) Asin (-wt) (4) Acos (kx)

In the reaction represented by

frafafga arffsen d

ZXA _>Z—2YA_4_)Z—1 BA—4_)Z—1 BA—4
(1) o™, B,y (2) 7B, 0" (3) a™*,y, B 4 B,a"",y

The total energy of electron in hydrogen atom in first excited state is ~3-4 eV. The
kinetic energy of this electron is

TEGIOA T ¥ AFgiA hl TuW SRR ormen § g S W AW -3.4 eV R\ 1 @agE H
nfes S gt

(1) 34 eV (2) ~3-4 eV (3) 68 eV (4) -6-8 eV

When the electron enters in the magnetic field in perpendicular direction, then the
path of the electron will be

(1) linear (2) circular (3) helix (4) parabolic

21 e T.0.)
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62.

63.

64.

65.

(323)

o @ai g 83 ¥ weaq W = 2, @ seEga W ouy e
(1) & (2) gHE (3) Fvscia (4) ¥Eren

A source of unknown frequency produces 8 beats with a source of 250 Hz and 12 beats
with a source of 270 Hz. The frequency of unknown source is

| g # TE FA 150 & Ha % @y 8 dfie § 270 ' F @y 12 ST 3w Fqa 2|
IFE G R smgh w1 oA R

(1) 258 Hz (2) 242 Hz (3) 261 Hz (4) 292 Hz

A photon of energy 10 eV is incident on a metal surface having work function 46 eV.
The maximum KE and minimum KE of the emitted photoelectrons will be

(1) 10 eV, 46 eV (2) 54 eV, zero (3) 10 eV, zero (4) 46 eV, zero

afe 10 eV R I H weH et urg A wor W mf@ R, uig A @@ T FE T 46 eV
2| IS WY -3eag A iR aw JEaw few 39t @f

(1) 10eV, 46 eV (2) 54 eV, A (3) 10 eV, Y= 4) 46 eV, YA

The element ; X * has to be converted into its isobar after radioactive decays. It should
emit

@ dd , X4 # edwlr s § swm o smgeEn o § seen % fau sefid s
T2

(1) o,y 2 By (3) o,B (4) o,y

The wavelength of matter wave is independent of

(1) charge (2) mass (3) velocity (4) momentum
T qen # e ffi Tl w2
(1) ImEW W (2) TEIE W (3) I W @) A W
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In Young’s double slit experiment is carried out with light of wavelength 5000 A. The
distance between the slits is 02 mm and the screen is at 200 cm from the slits. The
central maximum is at x =0. The third maximum taking the central maximum as
zeroth maximum will be at X equal to

(1) 167 cm (2) 150 cm (3) 0-50 cm (4) 500 em

w fi-fe w@m 4 5000 A dR W w1 owm e W 2 @ Rad ¥ odfm Ao
0-2 orflo Fon e & whW H gft 200 Aoflo B FfT T x =0 W ¥ FAW I F
A Hfe T TR F ¥ AR I=@w H ogh X enh

(1) 1-67 oo (2) 1-50 FoHto (3) 050 @otfto (4) 5-00 oo

The specific heat C, for diatomic can be expressed as

fe-vmme & fau fafte son | frg s @ 2
() Cp=3R 2) Cp=3R 3) Cpb=1R 4) Cp,=2R
A ball whose kinetic energy is E, is thrown vertically at an angle of 45° with the

horizontal. Its KE at highest point of its flight will be

(1) E/V2 (2) E (3) zero 4) E/2

@ g Aft @ 45° Fv W FwEfm a@ § vAfm f ot R qw s ofw o9 E ) 3o %
Faan g W g nfes S fReht @i

(1) E/V2 (2) E (3) T= (4) E/2

For adiabatic expansion of an ideal gas the value of AP / P will be equal to (y =C p/Cv)
e e F wQW @R F A AP /P AR W R (y=C, /Cy)

2 AV AV _, AV 2 AV
(1) -y v (2) v 3) -y v (4) -y v

23 : (P.T.0.)



13U/102/28 Set No. 1

70.

71.

72.

73.

(323)

A drift velocity of free electrons in a conductor is V,;, when the current i is flowing in it.
If both the radius of the conductor and current are doubled, the drift velocity will be

I g sagEl H I A1 V,; ® WeE @ (g vafed @ @ ) A e A
e o el WY Wt O g W@ 9, @ ATE 9N 8 SR

(1) Vq/18 (2) Va/8 (3) Vq/2 (4) Vq/9

In a discharge tube (3Li7)+ and (7N14)++ are present. How many parabolas will be

obtained at screen in Thomson’s experiment?

(1) One (2) Two (3) Four (4) Eight

w fawst 9t § (5Li7)T @ (oNM)T Sufeum € ofmm w4 € W feR wEem ww
g ?

(1) 2) @& (3) =W (4) 313

A spherical black body whose radius is 12 cm, radiates 450 W power at 500 K

temperature. If radius is reduced to half and temperature is doubled, then radiated
power in watt will be

T MR e fomeh s 12 Fofto }, 500 K a9 W 450 W wfw fafefa wwdt 21 af
P e W 9@ Qe A A g W R 9w, d aw § fRfRa wie aeh

(1) 1800 (2) 600 (3) 900 (4) 300

The eccentricity of earth’s orbit is 0:0167. The ratio between its maximum velocity to
minimum velocity in earth’s orbit will be

yeh A Far K b 00167 B yh N Fan A 1@k wEew I <Aw AW F wu@ wm

(1) 3/2 (2) 5/3 (3) 11/7 (4) 1-03

24
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74. The motion of a particle is represented as Y = A sin (ot)+ B cos (ot). Then it is an
(1) SHM with amplitude equal to (A +B)
(2) SHM with amplitude equal to (A+B)/2
' (3) SHM with amplitude equal to vA? + B2
(4) SHM with amplitude equal to vA® + B3

TF w0 h 0 Y = Asin (ot)+ B cos (of) § Weifa 21 7 R anft
(1) (A+B) smum 6 Ter amad 7fg
(2) (A+B)/2 oW & TS Ed

3 VA? +B? s € e aed TR
(4) VvA® +B® smm € wa amed 0fy

75. For a transistor if a and P are the current gains in CB and:CE configurations
respectively, then

fet gifsret & 4Rt @ 3 B %9 CB 9 CE fommg & um wadw orss &, @
(1) a=B/(1+B) (2) a=B/(1-B)
(3) B=a/(l+a) 4) B=(1+a)/a

(323) 25 (P.T.0.)
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76.

77.

78.

79.

(323)

(Mathematics)

The equation x? +2x +3 =0 has

(1) two equal roots (2) two complex roots

(3) two real roots (4) one real and one complex root
i x2 +2x+3=0 %

(1) A TR g&@ a (2) ¥ wfty y@ &

(3) A Tafa® g@ BN (4) = 4o arafow oM us @fhy gm

If 2< x< 3, then x%2 -5x+6 is

21’(?2<x<3, | x2—5x+6?ﬂm%

(1) <0 2) >0 (3) <0 (4) >0

If A={a b, ¢, d}, then the mapping {(q c), (b c), (¢ a), (d, a)} is
(1) one-one (2) one-one onto

(3) many to one (4) many-one onto
R A={a b cd}, } I {(ac), (b o) (ca),da) ?

(1) -t (2) TH-TF AT<DCH

(3) M- (4) TB-TH AT=BCH

The mapping f(x)=x2 +2 defined on the set of natural numbers is

(1) many-one (2) many-one onto
(3) one-one onto (4) one-one
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Tftw wewelt & =y W ufonfie sfifmer f(x)=x2+2 R

(1) =}-T* (2) ME-TF ATBEH

(3) TH-TH ABIEH (4) TH-TH
13
80. The value of Z (i" +i"*1), i=J-1, equals
n=1
13
Z (in +in+1)’ l:\/——l F O -%
n=1

(1) i 2) i-1 (3) -i 4) 1-i

1-i\?
81. (—) equals

1+

1-i\?

) s

1 +1

(1) 1 2 -3 (3) % 4) ~1

82. If log)g 2,108 (2* —1) and log, (2* +3) are in AP, then x equals
IR log,q 2,logo (2% —1) 3 logo (2% +3) FW=R ot & &, @ x =+ 79 2
(1) logy 5 (2) logyo S (3) logs 2 (4) logyo 2

83. If the sum of first n natural numbers is -é times the sum of their squares, then n equals
e Fu n TTHTR GES H AT IE AW F AN LA, D onoFwoAW R

(1) 5 (2) 6 3) 7 4) 8

(323) 27 (P.T.O.)
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84.

85.

86.

87.

(323)

Ramesh has 6 friends. In how many ways can he invite one or more of them at a
dinner?

AT % 6 i §1 T o s Bl @ 9w R 0w @ O § omifie 9w 27
(1) 64 2 63 (3) 63 4) 6

-1
[:13 130} equals

1 37!
[3 10} wm

10 -3 10 3 -10 3 -10 -3
L Y L AT v R
Factors of the expression x3 +y3 +23 -3xyz are
w9 x° +y° +2°3 -3xyz F TGS E
(1) (x? +y? +zQ)(xy+yz+zx—x—y—z)

(2) (x+y+2z)(xy+yz+zx—x? -y? —z2)
B) (x+y+2) (x? +y2 +2z2 - XY —Yyz -zx)
@) (x+y+2z)(x2+y?+2%2 +xy +Yz +2zx)

The equation of a line which passes through (acos® 6, asin? 8) and perpendicular to
the line xsec6 +y cosec B =a is

ﬁlﬁ (acos3 6,asin36) a ’Iﬂﬁ areft 3R @ xsecB +ycosecd =a * THIE @ #
grfiwrr 3

(1) xcosB+ysind =2acos 20 (2) xsinB-ycos6 =2asin 20
(3) xsinB+ycos6 =2acos 20 (4) xcosB-ysinb =acos 20
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The length of the tangent drawn from the point (2, 5) to the circle x2 + y? -2x -3y-1=0

18

() 9 (2) 3

lim [X*SinX equals

x>0 \ x-cos x

lim |Xtsinx o oo 3

x>» \x~-cos x

() O (2) -1
x? ‘

Let f(x)=ﬁ when x #0, f(0)=0, then
x

(1) f'(x) exists at x =0

(3) f'(x) exists everywhere

afg f(x)=£i s@fe x 20, £(0)=0, @

| x|
x=0 W f'(x) Afca w@ar &
f(x) gd7 Afea § 2

i 1 cosx
tan -
1+sin x
i 0s ]
tan ! ¢ .x
1+sme

(1) -

equals

# a9 ?

(2 3

D=

29

(3)

(3)

(2)

(4)

(2)

(4)

(3)

ﬁ“ﬂ (25) ¥ g9 x? +y? -2x -3y -1=0 W it 7 woaff N T 2

V53

4) E
2 2

1 4) o

f(x) is discontinuous everywhere

f(x) is continuous everywhere

f(x) &3 g 2
f(x) 995 waq R

(4) 1

(P.T.O.)
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92. The function f(x)=tan x -x
(1) always increases
(2) always decreases
(3) never decreases

(4) some times increases but not everywhere

%l f(x)=tan x - x

(1) & wedr ? (2) W ueal B
(3) Fft wzar T R (4) #ft Jga ¢ g T T
93. Imdx equals
l+cos x
J-x+sinx dx & qH 2
l+cos x
(1) cot12C-+c ‘ (2) xtani2C-+c
(3) log(l+cos x)+c (4) log(x+sin x)+c¢

94. The value of

2 X)L
¢(x)+¢[g._x]
is
w2 ¢(x) dx 1 |
¢(x)+¢[g——xj
1 T L3
(1) = (2) > (3) a

(323) 30
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The solution of the differential equation % =l+x+y+xy is

FaFE qHIE %=1+x+y+xy?mm%

2 2 2
(1) 1+y:x+x7+c (2) y+%—=x+%+c

2

(3) log (1+y) =log c(l+x) (4) log(l+y)=x+7-+c

A A A
For any vector @,|dx i|2+|ax j|2+|d@xk|? equals

et afew @ & R @, |axi|?+|ax j|?+|axk|? ® 99 &

(1) |a|? 2 2|al?

3 2lal?

4) 3lal?

Two dice are rolled one after the other. The probability that the number on the first is

smaller than the number on the second is

AU T F AR TE FF AQ E TR IR T W v o dem @ 2R Y fH wlww

?

7 3 5
(1 & @ Z 3 2 @ S
The value of 1__}&21_5_ 18

l+tan“ 15°

—_ 2 o
l1-tan“ 15 mm%
l1+tan? 15°
(1) 1 (2 V3 (3) 33 (4 1

31

(P.T.O.)



13U/102/28 Set No. 1

99, If the sides of a triangle are 7 cm, 443 cm and v/13 cm, then the smallest angle of the

triangle is
afg fredt B &t 49 7 cm, 4¥3 cm 3R V13 cm #, @ e w1 TR S ww R
(1) 15° (2) 45° (3) 30° (4) 224°

100. lim —> — is equal to

(1) O @ 5 3) 1 (4) 2

(323) 39
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Section—IV
Qug—|Vv
BOTANY and ZOOLOGY
(Botany)
101. Abscission occurs during

(1) senescence (2) dormancy (3) fertilization (4) seed germination
Frde frak dem dar 2¢
(1) Sforfareen (2) e @) f=m (4) 9 sig

102. Khaira disease of rice is a deficiency disease caused by
(1) magnesium deficiency (2) copper deficiency

(3) zinc deficiency (4) iron deficiency
wEd % QU U w7 ownE R
(1) *afirm &1 apvme ' (2) T F IvE

(3) TR N IE (4) deaa = v

103. Alleles are
(l)A genetic materials of nucleolus
(2) different molecular form of a gene
(3) self-fertilizing true breeding homozygotes

(4) different molecular form of chromosome

(323) 33 (P.T.0,)
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104.

105.

106.

(323)

ugl A @
(1) fFeaa % orgatyes wqd (2) s ¥ fafim ool wwd
(3) Ta-FR=A A wgW HHAST IS (4) Firm ¥ e sk fig

Viruses are considered non-living because

(1) they do not move

(2) they do not mutate

(3) their nucleic acid does not code for protein
(4) they cannot reproduce independently
fawmpalt R fslffa w1 s R, e

(1) 3 we &

(2) ¥ Ifafda 7 &

(3) % fFe wre Nidw ¥ fo s 7 @
(4) A w@da T A TRATEA T T FH

A mycorrhiza is a

(1) fungal disease of root (2) mycoplasma disease of root
(3) fungus-plant root association (4) bacterial disease of root
AR R} T

(1) H&t & Fas AT (2) & 1 WIFHIEAEE AT

(3) FAR-UET [ F HEEISH (4) ®& w1 ShaEmsfE A

The crop Brassica nigra belongs to the family

(1) Tiliaceae (2) Euphorbiaceae

(3) Brassicaceae (4) Malvaceae

34
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SR T fhe arRg-uRER % gee 27
(1) fefaamid

(3) Sfermeftd

A seed contains
(1) an embryo
(3) stored food
i § wmfeq g R
(1) @y

(3) @ufea e

The bast fibre of jute is

(1) secondary xylem of stem
L]

(3) ground tissue of stem

2 F IR BEW R
(1) & & s smem
(3) M = fraenm ag

13U/102/28 Set No. 1

(2) Fenifefarefs
(4) wearEs

(2) a zygote

(4) both an embryo and stored food

(2) T g
(4) YU W@ wufed mgm 2

(2) secondary phloem of stem

(4) cortex of stem

(2) @ W fedtas A
(4) W F Feaw

One of the major ‘Basmati’ rice producing State in India is

(1) Uttar Pradesh

(3) Kerala

(2) Karnataka
(4) Andhra Pradesh

YRA # ‘Srendl 9ee w1 O W IeRd 7o 2

(1) W ¥aw (2) wAieH

3) F& (4) T

(P.T.0.)
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110.

111.

112.

113.

(323)

Nitrogen fixation in rice field is done by

(1) brown algae (2) green algae

(3) blue-green algae ' (4) red algae

qA % G § EeR W fedwe fed g da /7

(1) R = (2) &ha fam (3) He-gha fa@  (4) w9 fa

Early blight of potato is caused by

(1) Ustilago hordei (2) Puccinia graminis
(3) Albugo candida (4) Alternaria solani
ane] % foeht Am @ www R |

(1) sfRern g (2) gefFar mifafran
(3) orgm Ffeer (4) JreIRET dH

Plant growth depends on

(1) cell enlargement (2) hormones

(3) cell division (4) All of the above

Nul = fawm anfim R

(1) w9 dafz ®  (2) TwF W (3) ®u A W (4) I @i

A combination of auxins and gibberellins spraying on some plants resulted in
(1) preventing of senescence

(2) promoting of fruit ripening

(3) promoting production of parthenocarpic fruit

(4) killing broad leaf plants
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Nl W ARA @ R ¥ w9 foeua w1 vhom @ 2
(1) Sfotaeen = A (2) ®E-IFA H wREAr
(3)mﬁvﬁmﬁaﬁwﬁ%mﬁq& (4) = ofrl T DN w= R

114. The Central Sugarcane Research Institute is located at

(1) Lucknow (2) Coimbatore

(3) Bhubaneswar (4) Guwahati

7 YR fod sy wel omfem 27

(1) s@Ts (2) FrER (3) YaTE (4) TR

115. Bordeaux mixture contains
(1) copper carbonate, magnesium sulphate and linseed oil
(2) copper sulphate, lime and water
(3) copper nitrate, lime and sodium sulphate

(4) copper oxide, sodium chloride and water

awm fieg ¥ aftifm @ §

(1) FR FEe, Pl gode @ @b 3=
(2) FR TH, A

(3) W AF, IA UH WifeAR wehe

(4) FR HFaE, Wfeaw e W W@

(323) 37 (P.T.O.)
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116. The scientific name of paddy is

(1) Brassica nigra (2) Ustilago nude
(3) Triticum aestivum (4) Oryza sativa
¥ = AwhE T R

(1) s T (2) st 73
(3) gmfleFA efeam (4) 3nfsT @far

117. The centre of origin of wheat crop is
(1) Myanmar (2) Peru

(3) Brazil (4) Central Asia

T & 0 @ 0w e R
(1) =HR 2) U® (3) ssfia (4) 9= ufymn

118. The fruit of mango is

(1) berry (2) drupe (3) pome (4) . pepo
AW F FA R
(1) =8 (2) 3 (3) @m (4) W

119. Claviceps purpurea is the causal organism of
(1) rust of wheat (2) smut of barley

(3) ergot of rye " (4 powdery mildew of pea

(323) 38
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aﬁﬁﬁmwﬂﬁmmm%
(1) ¥ = wgan (2) WS A Fog
(3) u§ @ anfz (4) A gl wgd

120. Soil fertility is reduced by
(1) decaying organic matter (2) crop rotation
(3) intensive agricultural practices (4) nitrogen fixing microorganisms
T H I R w0 ue Sl 27
(1) IfF veef 1 sraam (2) w8 IF

(3) & FN = W™ (4) gewshiforti @ g w1 ferfe

121. Which greenhouse gas other than methane is being produced by agricultural fields?
(1) Ammonia (2) Nitrous oxide
(3) Arsenic trioxide (4) Sulphur dioxide
i Aa ¥ e fr o T e w e SR A @ R o T 27
(1) | (2) EgH sitwe
(3) mEfE IS (4) TEH TEIATFATES

122. The increase in crop yield with green manure is approximately

M AR & wim & wwe § o e gfy gf 20

(1) 1-10% (2) 10-20% (3) 30-50% (4) 60-80%

(323) 39 (P.T.0.)
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123. The problem in water conservation is to reduce the amount of
(1) precipitation ‘ (2) run-off water
(3) evaporation (4) groundwater
wa-gtem § gen anen fRew #W oFW A A '
(1) ITagqm (2) EE S (3) ey (4) sisa

124. The edible part of Pisum sativum is
(1) fruit (2) cotyledon or seed
(3) leaf _ (4) root
i am w1 s ow R
(1) %= (2) A=A e e
(3) Wt (4) 7=

125. The Indian Agricultural Research Institute is located at

(1) Chennai (2) Srinagar (3) Lucknow (4) New Delhi
e Wiwea@ fed e w=l oafem 7

(1) == (2) #R (3) @IS (4) ¢ g

(323) 40
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(Zoology)
Zoological name of tapeworm is
(1) Ascaris lumbricoides (2) Wuchereria bancrofti
(3) Taenia solium (4) Fasciola hepatica 4
- g w5y P am 2 |
(1) wwhhE afEwey () FRfem dwrw
(3) &Rar wiferm (4) ¥R fediea

Which one of the following blood groups is considered as universal donor?

frafafea # @ F9-a1 © g wdqm 27

(1) A (2) B (3) AB

The centrum of the 8th vertebrae of the frog is

(1) Procoelous (2) Amphicoelous (3) Amphiplatyan

Wew A omadl weeh w1 dgw @
(1) wheE (2) TEdEa (3) THRARER

Which of the following is not a mammal?

(1) Whale (2) Dolphin (3) Sea horse

Frafafaa & § 99 @ a8 20

(1) &= (2) R (3) W Hra
41

4) O

(4) Heterocoelous

(4) THeE

(4) Seal

(4) =

(P.T.0.
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/ N\
@) Pepsin digests protein in

(1) stomach (2) duodenum (3) jejunum (4) oesophagus

ofEm N W A R R

(1) mmmE 3§ (2) ggfem # (3) S # (4) ST °
131. Malaria is caused due to

(1) Plasmodium vivax (2) Entamoeba histolytica

(3) Amoeba proteus (4) Giardia

TR w1 T R

(1) wreHifean aa+g (2) Uaifiar feeeiforear

(3) e MTT (4) Ffrdar

132. The element found in the haemoglobin is

(1) Fe ‘(2) Cu (3) Mg : (4) Zn

renfas & a9 e a ®

(1) & (2) dfen (3) Afifimm 4) f=
Which of the following is the non-protein amino acid?

(1) Ornithine (2) Histidine (3) Glutamic acid (4) Proline

fefafs & @ 9 smiddg iy e 27

(1) amfifem 2) fefefes (3) Tfe sn= (4) wref

134. \Vision in insect is

(1) monocular (2) binocular (3) stereoscopic (4) mosaic

Fd A gfe e 27

(1) HFEFR (2) STENFER (3) fRfcr=fs (4) W

(323) | 42



135.

136.

137.

138.

(323)

The enzyme lipase belongs to the class

(1) Oxidoreductases (2) Transferases
(3) Hydrolases (4) Ligases
ELAER L

(1) sifFaeifeRw af = (2) THRS Tl =
(3) e & ® (4) @ =i @

The number of cervical vertebrae in giraffe and camel is
(1) 7 (2) 10 (3) 12
fe @@ Je § Mo w0 gen 9 2

(1) 9 (2) == . (3) am®

Canal system is the characteristic of

(1) sponges (2) sea anemones (3) sea urchins
A AT A R
(1) o= & (2) @ wimE w5 (3) # AR =

Human blood has the highest percentage of

(1) monocytes (2) neutrophils (3) eosinophils
e T 8§ el st wfewe 2
(1) AREg w1 (2) =ggiftret w1 (3) TfEfr =1

43
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(4) indefinite

(4) fifeme

(4) Hydra

(4) &TFgT

(4) basophils

(4) JafE @

(P.T.0)
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139. Part of alimentary canal which has functions of digestion and absorption is
(1) oesophagous (2) stomach (3) intestine (4) mouth cavity

HER AT 1 98 U S grEH d HEWN HoFY war R

(1) &= R (2) AMEA R (3) R ? 4) 7@ & R
140. The longest living animal is
(1) dog (2) crocodile (3) tortoise (4) elephant
T st ay R
(1) @H (2) wereRd (afeam)
(3) Hgn (4) wmft
Lock and key theory of enzymatic action was proposed by
(1) Kogl and Smith (2) Beadle and Tatum
(3) Emil Fischer . (4) Jacob and Monod
wrgt o it A @ B Al w1 wfaures e e
(1) =at @ @y 3 (2) s W@ 2w 2
(3) ufE fem 3 ~ @) dF= @ qAE A
In nucleotides, nitrogenous bases are linked to pentose sugar by
(1) peptide bond (2) phosphodiester bond
(3) glycosidic bond (4) hydrogen bond
FfFrieEe # TRder arR AW whu ¥ I3 wa ?
(1) Yergs g g (2) FERITERT §9 gH
(3) wEEIfalE® a9 ga (4) TEESA 99 g
143. In starch, glucose molecules are linked by
(1) peptide bohd (2) phosphodiester bond
(3) 1-4 and 1-6 glycosidic bond (4) hydrogen bond

(323) 44
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145,

146.

(323)

we # e e R @

(1) Y=erge g g
(3) 1-4 @ 1-6 wwffes dg g

13U/102/28 Set No. 1

(2) FERIEERT 99 g
(4) eI dg grr

Which of the following uses sonar system for the location of its prey?

(1) Firefly (2) Fox

(3) Bat (4) Wild cat

Fefafan & & #17 o i A 9 TR F R @ TRl @ s 27

(1) T (2) AwH

The basic unit of taxonomy is

(1) class (2) order
FEAT i a2
(1) Fo@ (2) @rdy

Nissl’s granules are found in

(1) neurons (2) muscle fibres

free wfterd of et &

(1) dfem Fifepred §

(3) =i d

The larval stage of frog is

(1) Ammonotelic
How w1 fom 27

(1) m=refere

(2) Ureotelic

(2) ghERfees

45

(3) =wmEs (4) Seh fagh
(3) genus (4) species
(3) s @) whfim

(3) neutrophils (4) erythrocytes

(2) wiEdsht ¥ dgedt §
(4) iz §

(3) Uricotelic (4) Aminotelic

(3) gRerfers (4) e

(P.T.O.)
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148. The centrum of ninth vertebra of frog is

(1) biconvex (2) amphicoelous (3) procoelous (4) amphiplatyan
e 1 ANl wAeh w1 qgH B
(1) arEHi-aF8 (2) oferdieE (3) WwE (4) UFEifeaH

| In meiosis, synaptonemal complex appears during

(1) diplotene (2) pachytene

(3) zygotene (4) metaphase I

s B fvm § Rerafine e e 2

(1) fewirdm # (2) ¥R & (3) M # (4) W 1

150. Which one of the following pairs is mismatched?
(1) Ascorbic acid—Scurvy (2) Thiamine—Beriberi

(3) Niacin—Pellagra _ (4) a-Tocopherol—Night blindness
frafafean & @ F9-m gm Fafwa &7

(1) TEFfa® na—wRdl (2) wrEfRA—Itah
(3) e —demn (4) a-JerrTa—did

(323) 46



13U/102/28 Set No. 1

Section—V

Qug—Vv

AGRICULTURE

151. Borlaug Prize was given in the field of

(1) Science (2) Technology (3) Film (4) Agriculture
et R o a # o wmn 27
(1) famm (2) srenfih (3) frem (4) Fy

152. Area of Alluvial soil in Uttar Pradesh is
IR WY ¥ g qu W dued B

(1) 10-85% (2) 5122% (3) 61:78% (4) 20:95%

1583. National Dairy Development Board was established in
g 3 fawm S A v w@ g oft?

(1) 1963 (2) 1965 (3) 1967 (4) 1970

154. Average normal temperature of cow body is

T % R w1 ofwd wEE A g R

(1) 100-5 °F (2) 1015 °F (3) 102:5 °F (4) 100 °F
155. Estrogen hormone is related to

(1) reproduction (2) milk production

(3) protein synthesis (4) fat synthesis

(323) 47 (P.T.0.)
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156.

157.

158.

159.

(323)

TR B fred wrafda R 7

(1) Ss=+ (2) U I

In milk, protein is present in
(1) soluble
gu # e i et R

(1) gesfia &9 ¥

(2) globules

(2) e

UP Council of Agricultural Research is situated at

(1) Lucknow (2) Kanpur

I W PN gEuE g fm R

(1) @1 (2) AR

Average percentage of fat in Jersi cow milk is

o T ¥ gu § awm A shea sRea T Ad 2

(1) 40 (2) 45

In gypsum nutrients present are
(1) calcium and sulphur

(3) iron and sulphur

fam # F3-Y drvw g aw Il E7
(1) Ffmmm 3 Tew

(3) AT T TR

48

(3) WOW FWE  (4) FE
(3) colloidal (4) emulsion
(3) HemEEE (4) T

(3) Allahabad (4) Jhansi
(3) TemEETg (4) wreh

(3) 55 4) 65

(2) calcium and iron

(4) iron and manganese

(2) Hfyrm T oIFH
(4) ¥ T ATl



160.

161.

l62.

163.

164.

(323)
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Name of the State for highest production of sugarcane in India is

(1) Maharashtra (2} Uttar Pradesh (3) Karnataka (4) Bihar
A H TR W IAqTeT T o1 fRw wa # avar 0
(1) werg (2) I weW (3) wieh (4) form

As per census of 2010-11 world population in billion is

ad 2010-11 N S F MR W fawm H swEen e § R

(1) 55 (2) 65 3y 70 4) 75
Temperature of cold storage for storage of potato should be

Y & WERY & I} Fies WRE W qEN B =R

(Iy 10 to 25 °C (2) 40 to 65 °C

(3) 80 to 105 °C (4) 11-0 to 155 °C

In black soils, the black colour is due to

(1) iron oxide (2) magnesium oxide
(3) humus (4} copper oxide
weft gt 1 1 wren form wwor g R

(1) @ FFaRE (2) Ariftrm siFERe
(3) @ (4) FIR AL

Triticale is a cross between

(1) ;Jvheat x barley (2) barley x rye (3) wheat x rye (4) wheat x oat
fefewa wia 2

(1) T x < (2) St x (3) T x ué (4) W x =

49
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165.

166.

167.

168.

169.

170.

(323

Percentage of nitrogen in calcium ammonium nitrate is

Ffewrm s Tl § Faem ) i O @ R

(1) 21 (2) 25 (3) 31 (4) 44
Dwarf varieties of wheat in India were started during

W # s Sifa % A wonfodt @ geare gwew gan

(1) 1961 (2) 1963 (3) 1967 (4) 1970
Name of the element responsible for Jhulsa disease in plant is

(1) sulphur (2) zinc (3) iron (4) calcium

gem A fhw o A wh A dar 20

(1) F& (2) fomr (3) @rar (4) ¥
In world maximum goats are found in

(1) America (2) India (3) China (4) Pakistan
fawm 4 go@ sifus w=fal = o o #2 .

(1) smfem (2) wwE (3) I (4) uTfREaH

Name of the vitamin responsible to increase the reproductive capacity is

(1) vitamin A (2) vitamin D (3) vitamin E (4) vitamin K
WA I wgm & foav fe fefim @) 3 e
(1) frefm A (2) fq@fim D 3) fa=fim E 4) faafim K

Percentage of dry matter in cakes is
gferdl § o veed R wfwa oA R
(1) 60 (2) 70 (3) 80 (4) 90

50
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172.

173.

174,

178.

176.
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Average percentage of ‘Khoa’ in buffalo milk is
T % 39 A s whem ‘@’ WTH grar &
(1) 10 (2) 15 3) 25 4) 35

White colour of milk is due to the

(1) fat globules (2) casein (3) carotene (4) milk sugar
3 01 R wnw adhg dran 20
(1) =@ rsgeq (2) *H= (3) FA (4) 39 R

Hours required to develop egg in hen are

gt & o ave s § uw amy §
(1) 18-20 (2) 22-24 (3) 28-30 (4) 30-35

Average percentage of protein in paneer is

TR A W B e gfiwe o B 2
(1) 7-9 (2) 10-12 (3) 14-16 (4) 20-22

Average temperature (°F) of hen is

i 1 ofwa auwEw (°F) Bt 2
(1) 99 (2) 103 (3) 107 (4) 110

content?
(1) Fishmeal (2} Neamcake (3) * Poultry manure (4) Guano

ﬁmﬁﬁgaﬁﬁﬁq—ﬁmammﬁafwmﬁmwm%?
(1) weeht &1 3@ (2) Jm # ash (3)-3352 # @ (4) &

51 (P.T.O.)



13U/102/28 Set No. 1

177.

178.

179.

180.

181.

(323)

Iron from mines is known as

(I) pig iron (2) cast iron (3) rot iron (4) iron ore
@gri & T e B 8

(1) fom g (2) R IFEA (3) Tz ¥ (4) ITEE A
Average percentage of carbon in steel is

seqa & e e s wEn dd R

(1) 0-1-0-2 (2) 0:4-0-5 (3) 0-8-1-0 (4) 1-0-15

Principal element of glass is

(1) lead (2) calcium silicate

(3) magnesium (4) iron

e i qer ae B R

(1) (2) ¥famm Rifere  (3) efiftmm (4) <

‘Grow more trees’ movement was started by

(1) Mahatma Gandhi (2) Jawaharlal Nehru
(3) K. M. Munshi (4) Vinoba Bhave

‘afee gu e’ STem fee s fRn an?

(1) werenn e (2) VaTEETE 9g&  (3) ho THo T=f (4) foren wm

Regional Rural Bank was established in
gfrr aeflor S A wmen w9 gt

(1) 1970 (2) 1975 (3) 1980 (4) 1985

52
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183.

184.

185.
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In India first phase of Cooperative Movement was started in

R ¥ HEHE STRICH WU SO FE T A7

(1) 1900 (2) 1904

Five Rupee note is issued by
(1) State Bank of India

(3) Finance Ministry

urE FR # A2 fRed g s fen s 27

(1) Ve = 1% sfoem

(3) fom wem

Pungency of onion is due to
(1) allyl propyl di-sulphide
(3) alicine

W # diEme R SR g 27
(1) TEE NS SE-HeHTES
(3) et

Damping off disease spreads from

(1) bacteria (2) fungi
e ofw A Hewar B
(1) Sfamy (2) wEE

53

(3)

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

(3)

(3)

1910 (4) 1920

Reserve Bank of India

Planning Commission

fod ¥ e zfoem
Ao S

carotene

allyl propyl sulphide

Ffe

LIS IS e

algae (4) virus

FaH (4) foramo

(P.T.O.)
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186.

187.

188.

189.

190.

(323)

Vitamin present in green chilli is

(1) vitamin A (2) vitamin B (3) vitamin C
7 i A faeofm o s R
(1) faafm A 2) frfim B (3) ffm C

‘Mallika’ and ‘Aamrapali’ is the variety of fruit

(1) Mango (2) Guava (3) Apple
‘nfge’ w@ ‘el fRE e @ wenfa 272

(1) »m (2) onTEq (3) @w
‘Panama’ disease is found in

(1) Guava (2) Banana (3) Mango
‘gar’ I e @

(1) A&g (2) Fem (3) Im

Oryza sativa is the botanical name of
(1) Wheat (2) Maize (3) Paddy
Hifts #fear frae ameafes @ 87

(1) A (2) H&T (3) a™

Average percentage of rice in paddy is

g ¥ gad TEe f a9 feed R

(1) 50-55 (2) 60-64 (3) 70-74

54

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

(4)

vitamin D

faafim D

Papaya

Grapes

Barley

75-78
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194,
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Which one of the following fertilizers is least hygroscopic?

(1) Urea (2) Ammonium sulphate

(3) Diammonium phosphate (4) Calcium ammonium nitrate
Fefafan & @ #¥9-a1 9w w9-3 -5 IGamTE g7

(1) e (2) sifEm aeke

(3) sEMfw wreke (4) Fafimm omifam Tz

Time of self-pollination in groundnut is

(1) morning (2) noon (3) evenimg (4) night
el & wawom few g @ 27

(1) yug (2) 9w (3) wm (4) T
Which one of the following soils is best for vegetable cultivation?

(1) Sandy (2) Sandy loam (3) Clay loam (4) Clay soil
W@awﬁﬁ@ﬁ-aﬁwﬁ%%hm%?

(1) sger (2) M e (3) nfEr Awme (4) #fEm g
Which one of the following can be suitably grown as a mixed crop with wheat?
(1) Cabbage (2) Cotton (3) Sorgham (4) Mustard
ﬁw%ﬁaaﬁﬁaﬁw—mﬁfmwﬁ{%%nm%?

(1) wrerish (2) U™ (3) wW (4) @&

Which one of the following parts of tobacco plant synthesises nicotine?

(1) Root (2) Stem (3) Branch (4) Leaf
ﬁm%%aﬁﬁmmﬂw—mmﬁaﬁﬁqm%?
(1) s (2) (S) =man (4) gt

55 (P.T.O.)
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196.

197.

198.

199.

200.

Nitrogen present in urea is in the form of

(1) nitrate (2) ammonia (3) amide (4) nitrite
i & argree fRe ww § T S 27
(1) 22 (2) st (3) wTES (4) TR

‘Bhavani’ is the variety of

(1) Mustard (2) Linseed (3) Castor (4) Toria
‘sl R wefa R7
(1) G@E (2) orerE (3) owd (4) afen

Which one of the following organic manures has the narrowest C:N ratio?

(1) Biogas slurry (2) FYM (3) Compost (4) Groundnut cake
iy 3f® @@ § @ @90 C:N IguE R e 27
(1) =@ o (2) MR A @] (3) FAE (4) Hwelt A @l

Whiptail symptom in cauliflower is due to the deficiency of

(1) copper (2) molybdenum (3) iron (4) zimc
gl # fawde @ fRER wH A a7
(1) W (2) wifeseT™ (3) «ire (4) fome
Annual rainfall for dry farming should be
(1) less than 50 cm (2) 50-80 cm
(3) 80-100 cm (4) 100-120 cm
T @d % fel affsw awf @ =fee
(1) 50 oo & FH (2) 50-80 Howfie
(3) 80-100 Hoiflo (4) 100-120 FoHto
L & & 4

56 D/3(323)—10500
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